
https://www.leads4pass.com/jn0-450.html
2024 Latest leads4pass JN0-450 PDF and VCE dumps Download

 

 

 

JN0-450Q&As

Mist AI Specialist (JNCIS-MistAI)

Pass Juniper JN0-450 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/jn0-450.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

JN0-450 PDF Dumps | JN0-450 VCE Dumps | JN0-450 Study Guide                                1 / 4

https://www.leads4pass.com/jn0-450.html
https://www.leads4pass.com/jn0-450.html
https://www.leads4pass.com/jn0-450.html


https://www.leads4pass.com/jn0-450.html
2024 Latest leads4pass JN0-450 PDF and VCE dumps Download

QUESTION 1

Referring to the exhibit, what does the security alert indicate? 

A. An AP that is not part of the Mist Org is connected to the same wired network as the Mist APs. 

B. An AP that is not part of the Mist Org is launching a DDoS attack on the Mist APs. 

C. An AP that is not part of the Mist Org is advertising the same SSIDs as the Mist APs. 

D. An AP that is not part of the Mist Org is operating in the same RF channel as the nearby Mist AP. 

Correct Answer: A 

Reference: https://www.mist.com/documentation/rogue-neighbor-honeypot-aps/ 

 

QUESTION 2

Which action would site-level network administrators be able to perform? 

A. create a config template 

B. modify an RF template 

C. reboot an access point 

D. assign access points to the site 

Correct Answer: C 

 

 

QUESTION 3

JN0-450 PDF Dumps | JN0-450 VCE Dumps | JN0-450 Study Guide                                2 / 4

https://www.leads4pass.com/jn0-450.html
https://www.leads4pass.com/jn0-450.html
https://www.leads4pass.com/jn0-450.html


https://www.leads4pass.com/jn0-450.html
2024 Latest leads4pass JN0-450 PDF and VCE dumps Download

Referring to the exhibit, what are two reasons why a Mist AP would have multiple IP addresses? (Choose two.) 

A. One IP address is used for control traffic and one address is used for management traffic. 

B. The Local Status Page is enabled in the site settings. 

C. One IP address is used for redundancy. 

D. A guest portal is configured on a tagged VLAN. 

Correct Answer: BD 

Reference: https://www.mist.com/documentation/aps-use-ip-addresses/ 

 

QUESTION 4

A network engineer is looking to provision a new WLAN through the REST API. Referring to the exhibit, which HTTP
method should the request use to achieve this goal? 
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A. POST 

B. DELETE 

C. GET 

D. PUT 

Correct Answer: A 

Reference: https://www.mist.com/documentation/mist-api-introduction/ 

 

QUESTION 5

What are two advantages of lower modulation methods? (Choose two.) 

A. Lower modulation provides higher total aggregate throughput. 

B. Lower modulation provides higher data rates. 

C. Lower modulation is more robust against signal corruption. 

D. Lower modulation can achieve greater range. 

Correct Answer: CD 
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